Geometry: Review 2.5-2.7

Name K@ M
N
Complete the logical argument by giving a reason for each step.
1. 8x-34=6 Given
8x = 40 a. Addi#ion Po€
x=35 b. Division POE
2. Sx—=3)=4(x+2) Given | .
Sx—15=4x+8 a. Diste.butivt Prop,
x-15=8 b. Subtraction POE
x=23 c. Addtion pof

Solve the equation. Write a reason for each step.

3.x+18=7 4. 7x -9 =4x
Statement ‘ (2eason S tatens~t Req Son
. x419=71 I Grven . 7x-9 = Yx (. Give
x . ...[\ 2. Sub*chf)bk POG 2. - q - ~3x Z.S\lbm\:ti\é\'\ Poe
& 3 3=X 3. Division o€
l
5. Tx-11=4x+19 6. 42x+11)=76
Stattatnt [ Rea s ok e Statemend ReaASOn
loAx-llz Ux g L Given Po ¢ [ d(2x+11)=T6 L- 6"“”{ _
2. 3x-11719 1.5\,‘9%&‘6;\06 2. Iy +yu =716 2. Distnbutive Crep,
3. 3x =30 3. Addivtion 3. ®Bx: 3 3. Subtracdhian. POE
U‘. Lo Y. Diviston poe Lt~ ; 4. DivisTon EOE
. = . oxX=

Use the property to complete the statement.

7. Addition Property of Equality: if RS = TU, then RS +20=_"1U + 2.0

8. Multiplication Property of Equality: If m21 =m.22, then 3m21= 3™ L

9. Substitution Property of Equality: If a = 20, then 5a = S (7‘ 0)

10. Reflexive Property of Equality: If x is a real number, then x = X

11. Symmetric Property of Equality: If AB = CD, then CD = AB

12. Transitive Property of Equality: If m < F =m.F and m~ F = m.2 G, then mlE€ = mLG :




13. GIVEN: 24AB = AC

" @ @
PROVE: AB = BC A B A
Statements Reasons
1. JAB = AC 1. Given
2. AC= A8 + BC 2. SAP
3. 24B=AB+ BC 3. Substvhion POE
4. AB=BC 4. Subtract'on POE
14. GIVEN: £ABD is aright angle. A ¢
PROVE: 2ZABC and £CBD are complementary. ——i
Statements Reasons B 12
1. LABD is a right angle 1. Given
2. meABD = 90° 2. Defn. of Right L
3. MLABD = mLABC t+ m{<CBD 3. AAP
4. 90° = mzABC +msCBD 4. Substidution €O€
5. £ABC and £CBD are complimentary 5.Defr. of comp lf"“““”""'y Ls
X
15. GIVEN: XY =YZ =7ZX
PROVE: The perimeter of AXYZ is 3 - XY
Statements Reasons 7 | %
LYY = Y2 = 2x 1. 6iven
_ . 2. Definition of congruent
2. XY= Y2 = 2X segments
3. Perimeter of AXYZ = XY +YZ + ZX 3. Defn. of Perimeter
4. Perimeterof AXYZ = XY + XY +XY 4. Substitution POE
5. The perimeter of AXYZ is 3 - XY 5. Simplif Y
Use the property to complete the statement.

16. Reflexive Property of Congruence: LY = /4

17. Symmetric Property of Congruence: If E)z = ¢cb , then CD= DX.




Name the property illustrated by the statement.
18.
19.
20.

21.

If/1= /2 and /2 = /4, then A1 = /4. Transitive O C

XY=XY Reflexive POC

If ZCDE = ZRST, then ZRST = ZCDE. Symmetrmic €OC

Ifﬁ;f@,thenﬁgzzg S}/MM‘\‘V‘)’C PoC

Use the figure and given information to determine the unknown angle measures.

22.

23.

24.

25.

26.

If msCGF = 158° then mzEGD =
IfmszEGA = 67°,then msFGD =
If msFGC = 149°, then msEGA =
msDGB = Ctoo

0
msLFGH = qo

[58°
2.3 °

59°

A

Find the value of the variables and the measure of each angle in the diagram.

27.

Jyo lo6°
(13x+ 9)° \ 2(3y — 25)°
(4y+ 2)°\ (15x— 1)°
06° 14°
3x+9 = ISx-1 1y +22106
10 = 2x ({y:lDb(

el 5 L o
4 L B
0; F
28.
(Yye
(21x— 3)° 360
luye ,
9y +17y -9=130 Sx+l =36
Ay =199 Sx=3S
' X2



